: ZERO TOP BOX RACK KIT

MOTORCYCLES. User and Installation Guide

Installation Instructions '

TOOLS REQUIRED:

+ Allen Key - 4 mm
+ Allen Key - 5 mm (MY 13 and MY 14 motorcycles)
+ T45 Torx Wrench (MY 15 motorcycles)

INCLUDED PARTS:

PART NUMBER QTY | PART NAME

10-05850 1 Top Case Weldment Assembly

10-053856 1 Top Case Rubber Bumper

90-07273 2 Hexagon Socket Button Head Cap Screw - M6x16-8.8

90-07009 2 Héxagon Socket Button Head Dog Point Screw - M8x50
INSTALLATION:

1. On MY13 or MY 14 motorcycles, remove seat bolts using 5 mm allen key and
remove the seat. Retain for re-use, but if you happen to strip the heads, don't

worry, We include two replacements, M8x50 Hexagon Socket Button Head Dog
Point Screws.

On MY 15 and later motorcycles remove the seat bots using a T45 Torx wrench
and retain for re-use. You won't need the extra M8x50 screws

Figure 1. Se

2. Slide Top Case Rubber Bumper onto lower flange of the Top Case Weldment
Assembly.

If you have any questions, please contact your dealer for proper usage or installation. 88-06521 Rev 04 m




